

1 Doplňte chybějící údaje.

1.1 $3,8 \text{ dm}^2 + 1\,250 \text{ cm}^2 = \dots\dots\dots \text{ mm}^2$

1.2 $0,3 \text{ ha} + 4\,250 \text{ m}^2 = 72,5 \dots\dots\dots$

1.3 $12 \text{ m}^2 + 3\,400 \dots\dots\dots = 460\,000 \text{ cm}^2$

1 Doplněte chybějící údaje.

1.1 $3,8 \text{ dm}^2 + 1\,250 \text{ cm}^2 = \dots\dots\dots \text{ mm}^2$

1.2 $0,3 \text{ ha} + 4\,250 \text{ m}^2 = 72,5 \dots\dots\dots$

1.3 $12 \text{ m}^2 + 3\,400 \dots\dots\dots = 460\,000 \text{ cm}^2$

Řešení 1.1

Před porovnáváním převedeme údaje na stejnou jednotku.

$$38\,000 \text{ mm}^2 + 125\,000 \text{ mm}^2 = \mathbf{163\,000 \text{ mm}^2}$$

Řešení 1.2

$$3\,000 \text{ m}^2 + 4\,250 \text{ m}^2 = 7\,250 \text{ m}^2 = \mathbf{72,5 \text{ a}}$$

Řešení 1.3

$$\begin{aligned} 120\,000 \text{ cm}^2 + 340\,000 \text{ cm}^2 &= 460\,000 \text{ cm}^2 \\ 340\,000 \text{ cm}^2 &= \mathbf{3\,400 \text{ dm}^2} \end{aligned}$$
